B.E. SEM VIl / COMP / DIGITAL SIGNAL PROCESSING /22.11.47 == =
QP CODE : 22974

(3 hours) * Total Marks: 80
N.B. 1. Question No. 1 is compulsory & .
2. Attempt any three out of remaining St e
3. Assume suitable data if necessary and justify the assumptmns PSEOSE el
4. Figures to the right indicate full marks SR 5R J \.“'-"g
Q1 A Cumpare microprocessor with digital mgnal pmcessar | 2 of : "} . 05 .
B State whether x[n] = cos(3n n/4) is an energ}' ur power mgnal“wnh pgopéh A‘ﬁ A5,
justification. P M i Pl fﬂﬁ‘ | e
C Find the cross correlation of two causal sEquances x{n] = {2 3 1;,« 4,} and 505
y[n] = 3 &(n-3) -2 &(n)+ &(n- 1)+4 6{n-2} -
D State BIBO stability criterion for LTI systems Test the Stahaht; of‘ the LTI 05
systems, whose impulse response is: h[n] = ﬂQ“ uf- . -k3“ u[sn,} :
Q2 A Check whether the system y[n]aa“u[nl 185 5 ”,ﬂ_{:m_“‘fh}*_\ NP T 10
i)Static or Dynamic Ay Rtalle & St
ii)Linear-or Non-linear " - ﬁ &
iii)Causal or Nﬂn-Casual : EICRIENEY S S
iv) Shift variant or Shlft Invanant S, Jo SO
B Consider ana[og srgndl x{‘l) ,_2 sin- Bﬂmﬁff thé«ﬁamhlmg freqlisnc}r is 60 Hz, find 10
the sampled version-of diserete: t1m@51gn&? x[n] alsu ﬁnd analias frequency
correspundmg to Fs —6{} Hz by
Q3 A Detemlmﬂ the output respnnse of tﬁb\lﬁ svystem usmg Sibularmefiod , whose 10
inputis; o B o SR, S :
x[n]—' f xr{! l “‘@v *"'- L
D = {} elsewhﬂra 2 .-‘:\--' H2
___-and:h[n] a[n] 2*‘553\1% ;ﬁ[n 2 45[:1 3]
NS B Compute DFT nﬁse,quen& x[n] {{) 2 3, -1}. Sketch the magnitude and 10
e ___'=*phase; spectrum " AT A
Q4 A Explam the‘f‘éiluwﬁlg propertlres -;rf DFT 10
o :'__'_x_?"hlJPﬁI'lGdlﬂ Y A
-'-~11}L111 S TN
< i)l \iﬂ L .::-_{:-.-
g gﬂgrculm' Convcriutmn
Y ﬂf)Tingeversal o
R- € pufﬁ* llnear c-:uwcslutmn of the causal sequences x[n]= {4,4,3,3,2,2,1,1} 10

w~Eitndjl‘1{n]== {-sI 1} using overlap save method.
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R Zﬂ]g-hf '-';

i

{2,1,2,

x[n] =

e the response of LTI system using rad

B Explain Parseval’s energy theorem,

ii)IDFT of {X(k) circularly convolved wi
ii)IDFT of {X(k).X(k)}

iv)Signal energy

Q6 A Explainthes

If IDFT { X(k)}
following:
DIDFT of {X(k-1)}
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